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2A: QES
HzH: QX
Q1

= FOSEARA R 2t (St &)
SA-ZE - SA(FAH) - NISAY - BES Ol &y 3o Hnsz
-HI|QYBE2 588,7202112.95% 77 0 77
-=2010432 16,607, 04021 4. 5% 748 0 748
-1E2E 16,607,040 %1.75% 291 0 291
—A T2 E 16,607, 04021 * 1% 167 0 167
206 H2H| 85,000 70,000 15,000
01 24| 85,000 70,000 15,000
ZASK AES 24 W2t
100,0002 %3503 35,000 20,000 15,000
401 A& HIL 2] 1,410,7% 810,79 600,000
01 Al&H| 1,405,000 805,000 600,000
OLEAACH S2 S H2IAMY
200,0002 *8003 160,000 0 160,000
OQLEAACHT| =X > E2IALY
200,0002 *8007 160,000 0 160,000
OTREZ2Z2L aH HUIAY
150,000,000& 150,000 0 150,000
S22 29 JIZ2E DHIZA
70,000,000& 70,000 0 70,000
OS42212 AIH FHH| Al
40,000,000 40,000 0 40,000
O=MMT| TAlE A2 HHISAF
20,000,000 20,000 0 20,000
HZEL T2 ALY 1,352,704 491,560 861,144
401 AlEHIL 201 1,352,704 491,560 861,144
01 Al&H| 1,349,190 488,046 861,144
OM1AAEHR] B Ze|(2e22 M2
+) 288,284 99,676 188,608
OQlaER= 1,62021%3,891m *33 18,911 6,304 12,607
OJIAM= 4702%175,811m 33 247 8% 82,632 165,262
OZA=2AY 2,7602+3,891m 23 21,479 10,740 10,739
OM1AAEHR] 2 Ze(2E=R 5HB
+) 510,349 174,206 336, 143
@Y ES 1,6202%4, 444 M 35| 21,598 7,200 14,398
OBSEY 2,760 x4, 444 23] 24,531 12,266 12,265
OJIANZ 47091%329,284m 33| 464,220 154,740 309,480
OR2AATHR] B ze|(2e2e) 78,519 28,881 49,638
OQl&ER= 1,62024%2,943m %33 14,303 4,768 9,53
(@R =FSFs 2,7602%2,943m 23| 16,246 8,123 8,123
OJIANZ 47094%34,021 M %33 47,970 15,990 31,980
OMP2AAHR| B 22| (25=1R) 98,358 35,034 63,324
Ol = 1,62024%2, 442 *33| 11,869 3,957 7,912
@F=FSEs 2,760 %2, 442 +23| 13,480 6,740 6,740
OJIHHM= 4702+51,779m %33 73,009 24,337 48,672
OQEARACHT| BRSK Z2l(222 ,0f
210|122, A39) 101,608 37,683 63,925




2N 288
HE: QHVSICR IH U 2Y
SISl QA DSIAACIR| el (cre): xg)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
SEEYES 1,62021x4, 144 +33] 20,140 6.714 13,426
OIIHH= 47021%41,555m +33] 58,503 19,531 39,062
OBSHH 2, 760214, 144 23] 22,875 11,438 11,437
ONET BR=X 2el(TA% MEBHSE,
Ju=x,92) 124,342 45,03 79,306
SEIEYES 1,62021+3,900m 331 18,954 6.318 12,636
OIIHH= 47021450, 475 +33] 83,860 27,954 55,906
OBSHH 2,76021%3,900m 23] 21,528 10,764 10,764
ONEN BR=X 2H2I(TI=X) 135,730 55,530 80,200
SLIE}E 1,62021%11, 180m 33l 54,335 18,112 3,223
OIIH= 4701+13,968m 331 19,681 6.561 13,120
OBSHE 27602111, 180 +23] 61,714 30,857 30,857
CEAL2RIHL 90,000 20,000 70,000
401 AIEHI L2 TH] 90,000 20,000 70,000
01 Al 90,000 20,000 70,000
OFAMBEN BLEMAY
70,000,002 70,000 0 70,000
HSAlE 2l 123, 141 111,310 11,831
201 2er2ei| 84,887 79,310 5,577
02 =24l 77,077 71,500 5,577
O=YTR USHHSD MY SLTM 2
U2 ¥ A 5,577,002 5,577 0 5,577
401 A& Bl L= ThY| 34,254 32,000 2,25
01 Al 34,254 32,000 2,254
OSYTR USHHSD M2 SEDAHTKN
—>105KH) 1,254,000 1,254 0 1,254
OEYBE 012 NSAIH HSI| (D) =2
Sx| ®IIBA 1,000,000 1,000 1,000
405 THHFISH] 4,000 4,000
01 AL SZFSH] 4,000 4,000
OEYTH 0Fel NSAIHHSII(AD) S
3) 4,000, 00024 +1H 4,000 0 4,000
NEBIER 1,105,648 90,648 155,000
NEBIENES 1,105,648 950,648 155,000
ARDEDIHRAALY 749,248 504,248 155,000
T EEST] 749,248 504,248 155,000
01 A& 745,000 590,000 165,000
OIFRI 710K LB Hh42 FHIZAHL=30
om) 40,000,002 40,000 0 40,000
OR2l 495-621XI Hi4-2 FHIZAHL=100m)
50,000,000 50,000 0 50,000
02F2| MK L2 FHIBA
20,000,002 20,000 0 20,000
OLF2| 20K LR BHHZ FHIZA
45,000,000 45,000 0 45,000
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ool ey =4 (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
U= 2,777,553 2,607,721 169,832
INPNEEES! 667,959 645,127 22,832
aery =X 667,959 646,127 22,832
FUXXIME 2SR 95,750 9,100 3,650
406 XHaHF St 12,250 8,600 3,650
01 AL =S H S 12,250 8,600 3,650
oXsEggl 3o 22 3,650 0 3,650
03218 & RH(1200%500+730)
260,000 x4 H 1,040 0 1,040
O2I2IE ErRH(1200%600+720)
111,000 1074 1,110 0 1,110
O&OIA) 2Rt 50,0002 *30H 1,500 0 1,500
DoidiE 2E2kl 44,938 25,756 19,182
101 Q144 19,182 0 19,182
M IRINZZ2RSE+ 19,182 0 19,182
QofaE H ASE FA00RY & 28 19,182 0 19,182
o= 78,8803 x1H*216& 17,039 0 17,039
OFEFIHI 200,000 x18*12] 200 0 200
O4U2E2 (NS ERES) 1,943 0 1,943
-=2d= 17,238,080 4. 5% 776 0 776
Ak it= 17,238,0802%3.545% 612 0 612
- 611,0902%12.95% 80 0 80
~1ERE 17,238,080 *1.75% 302 0 302
“MHEE 17,238,080 % 1% 173 0 173
SR 550,548 403,548 147,000
INECPLE P 3= 550,548 403,548 147,000
FREZH ZAXTHAMY 29,880 2,880 27,000
401 AlZHIL 2 OHY] 27,000 0 27,000
01 AlZHI 27,000 0 27,000
Ox=Zu+=H 22 Z4(800m)
27,000,000& 27,000 0 27,000
22 FRU=AY 417,124 297,124 120,000
401 AlZHIL 2] 417,124 297,124 120,000
01 A€l 415,000 295,000 120,000
OgSel 36181l 22 =2 ZHSAHL=200m)
45,000,000 45,000 0 45,000
O=dgcl 6742 23 52 € =2 3l
AH(L=100m) 25,000,000 25,000 0 25,000
O=R4te] 4292 OtAE ZE(L=180m)
40,000,000 40,000 0 40,000
OT&el 206HX] L3 OtAZ M| SA
10,000,000& 10,000 0 10,000
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0243 =& 1 2 LetgH LES ~ L2ES

FA =01H
3 UxdE
el ety = (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
S0/ 2,187,621 2,106,736 80,885
NN 561,380 530,900 30,480
L P B 561,380 530,900 30,480
FUSE L IIFAHSEANR AL 18,480 0 18,480
101 21=21b 18,480 0 18,480
M 1N 22 RS2+ 18,480 0 18,480
OFUSE & NFAASEAMR JIZH=22
INIREIE B2 16,608 0 16,608
oJEs 78,8802 x 1826 <82 16,408 0 16,408
OEEFIHI 200,0003x1*12] 200 0 200
CAtEE J|2=RYE 1,872 0 1,872
O=8d= 16,607,040 *4.5% 748 0 748
OFak = 16,607, 0402 %3.545% 589 0 589
oA=L 588,720 %12.95% 7 0 77
(ONIL=) = 16,607,0402*1.75% 291 0 291
OMEE 16,607, 0402 * 1% 167 0 167
EAEZ g2l 83,825 71,825 12,000
401 AlZHIL 2] 12,000 0 12,000
01 A€l 12,000 0 12,000
O=0l - U= OlulZSh =4 & 45 u
X 12,000,000& 12,000 0 12,000
NP 456,354 406,354 50,000
NS AL 456,354 406,354 50,000
2R F0U=AY 363,240 313,240 50,000
401 AlZHIL 20 363,240 313,240 50,000
01 A2 361,000 311,000 50,000
OFst2c| L2 AIHIHISA
25,000,0002 25,000 0 25,000
OEHCIgrHA sZHBISA
25,000,000 25,000 0 25,000
AH2LZHI(S012H) 1,169,887 1,169,482 405
Jlz23tl 73,563 73,158 405
Jl23tl 73,563 73,158 405
406 XHAHR SHI 405 0 405
01 Xt = F S 405 0 405
Oz2le|4 otol3 405 0 405
O=f4 otol= 175,000 = 1CH 175 0 175
OAXIE Oto13 230,000 *1CH 230 0 230
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02443 =34 1 3
2A: LHE1S
g 0o & ey
el OlSt2 0tSxd EER=E)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
=S 923,89% 922,247 1,648
Folao] & g 226,240 224,592 1,648
OtSCHZ Ot=2x4 226,240 224,592 1,648
A e 18,128 17,380 748
201 ZB=EhI 18,128 17,380 748
01 AlR2telHl 9,170 8,422 748
OAZHEEE =2
154,000 123 1,848 1,100 748
FUTRME 29 64,980 64,080 900
405 RHaks S| 900 0 900
01 AL =S F=HI 900 0 900
ongs 300,000 *3H 900 0 900
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Al

A

249 FZ 15 LBs|H & 5
SAN: STBAHES
A =OIyo| & S
el OlSt2 0tSxd EER=E)
SA - BB SLA(EH) - HSAY - BES 0fl v o D2
ESANES 1,820,681 1,812,981 7,700
Folao] & g 5%, 156 593,956 2,200
OtSCHZ Ot=2x4 5%, 156 593,956 2,200
Fl M2 507,675 505,475 2,200
405 RHak S| 2,200 0 2,200
01 Tt =S F=HI 2,200 0 2,200
OXts &&= (AD) 2,200,000 *1CH 2,200 0 2,200
AH2LIHI(ESAES) 1,224,525 1,219,025 5,500
(=234l 112,374 106,874 5,500
Jl=23H] 112,374 106,874 5,500
405 KHoHF S| 5,500 0 5,500
01 AL =S F SHI 5,500 0 5,500
OT A= AL 5,500,000 *1CH 5,500 0 5,500
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